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oF Entries 1200
- Mean 249.6
60— Std Dev 126.1
= %2 / ndf 139/114
o Constant ~ 372+ 18.6
40— MPV 190.6 £ 0.9
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mf— Entries 1540
= Mean 360.8
B0 Std Dev 139.1
= X2/ ndf 181.4/ 149
50— Constant 271+ 13.1
= MPV 2949+1.4
40— Sigma 22.82 +0.93
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sqrt(height[0]*height[1])

= Entries 1004
A= Mean 306.3
40 :_ Std DeV 134.3

E H 22/ ndt 143.1/120
a5 Constant 2234 +127

= MPV 2412+14
30 Sigma 18.62 + 0.88
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sqri(height[0]*height[1])
B Entries 3348
140— Mean 307.1
- Std Dev 142.2
1200 X2/ ndf 257.7/165
100F- Constant 749.8 + 23.7
C MPV 233.1+0.8
80— Sigma 19.13 + 0.50
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Signal Height (Upper Bar)

sqrt(height[2]*height[3])

Entries 1200
Mean 306.1
Std Dev 124.2
%2/ ndf 151.3/122
Constant 280.2 + 141
MPV 248 +1.2
Sigma 17.91+0.73
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sqri(height[2]*height[3])
C Entries 1540
s0[— Mean 338.5
B Std Dev 132.8
- ¥2/ ndf 190.4 /141
40 Constant  266.9 +125
C MPV 2771114
30l Sigma 23.12 + 0.91
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sqrt(height[2]*height[3])

45 ? Entries 1004
a0l Mean 316.8
= Std Dev 133
35— ¥2 / ndf 153/123
= Constant 225 +12.4
0 MPV 2527 +1.4
E Sigma 17.91+0.79
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sqrt(height[2]*height[3])
160 Entries 3348
40— Mean 338.2
n Std Dev 138.5
120 ¥? / ndf 280.1/160
- Constant  690.4 +21.7
100— MPV 2696+ 0.8
: Sigma 20.36 + 0.53
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Signal Height

| lowerBar | UpperBar

Al 190.6+0.9 248+1.2
Tyvek 2412414 252.7+1.4
Mylar 294.9+1.4 277.1+1.4

w/o 233.1£0.8 269.6+0.8



Signal Integration (Lower Bar)

sqrt(integ[0]*integ[1])
a0 §_ L Entries 1200
= Mean 2021
% = Std Dev 1203
70 %2/ ndf 122.4/106
soE- Constant  490.7 + 24.1
= MPV 1497 +7.0
*E Sigma 106.6 + 4.2
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sqrt(integ[0]*integ[1])
B Entries 1540
= Mean 3074
C Std Dev 1378
60— x2/ ndf 186 /145
C Constant 346.3+17.0
50— MPV 2438 +£10.8
C Sigma 179.3+7.5
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sqri(integ[0]*integ[1])
60— Entries 1004
- Mean 2715
50— Std Dev 1295
- x*/ ndf 135.3/114
w0l Constant  259.8 +15.6
- MPV 2121+12.2
C Sigma 162 + 8.3
30_—
20—
- Tyvek
10_—
O =555 200030054000 Ehm a0t 3o a0t 5000
sqri(integ[0]*integ[1])
240~
200F- Entries 3348
= Mean 2313
= Std Dev 1362
1801 x2/ ndf 263/ 161
160 Constant 1082 + 33.6
140f- MPV 1659 +5.3
120~ Sigma 134+ 3.4
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Signal Integration (Upper Bar)

sqrt(integ[2]*integ[3])
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Mean 2501
Std Dev 1186
¥2 / ndf 136.6/114
Constant 3604 +£17 1
MPV 1976 +9.7
Sigma 1422 +53

Al

M b Moy | opon 0o d | o

6000

sqrt(integ[2]*integ[3])

7000 8000 8000 10000

70

60

50

40

30

20

10

Entries
Mean
Std Dev
x2 / ndf
Constant
MPV
Sigma

1540

2867

1346

224.3 /136
337.2+17.0
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sqrt(integ[2]*integ[3])
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141.6/114
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2238 +12.4
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sqrt(integ[2]*integ[3])

= Entries 3348
= Mean 2531
- Std Dev 1365
= %2/ ndf 277.3/162
e Constant 1019 +32.0
— MPV 1896 + 55
- Sigma 140.4 + 3.6
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Signal Integration

| lowerBar | UpperBar

Al 1497+£7.0 1976+9.7
Tyvek 2121£12.2 22381124
Mylar 2438+10.8 2276£11.0

w/o 1659+5.3 1896+5.5



